
30997 R6
Revised: JUNE 2025 1

A341/A348–A358
Lighting Kit

Portable Grain Auger
Installation Instructions

This manual applies to:

AGI Westfield MKX², MKX Series

AGI Westfield X², X Series

AGI X², X Series

AGI Hutchinson HX², HX Series

AGI Mayrath HX², HX Series

AGI GrainMaxx GMX², GMX Series

Installing the Work Lights
The lighting kit consists of three flood lamps, wiring harness, fused light switch box, mounting bracket, cable
ties, and hardware.

Note
73'/74' models: If retrofitting on to an existing auger, a front-end loader is required.

1. Secure the axle-area lamp bracket:

• 53'/63' models: to the tube flange using the existing hardware.

• 64'/73'/74'/83' models: between the truss tower and the middle tube using two 7/16" x 1-1/4" bolts
(for 73'/83') or 7/16" x 1-1/2" bolts (for 64'/74') and lock nuts.

Note
If retrofitting on to an existing auger, loosen the truss cable and remove the truss tower to install
the axle-area lamp bracket. Ensure the upper tube is supported within 1' of the cable return
bracket using a lifting sling or a front-end loader. Re-tighten the truss cable according to the
procedure in the auger manual.

If the auger tube is not supported when the truss cable is loosened, the auger will be
damaged due to bending.

• 84'/94'/114' models: to the truss tower using the existing cable clamp and a 5/16" flat washer.

• 85'/105'/125' models: to the truss tower using the existing cable clamp.

2. Fasten the axle-area flood lamp to the bracket.

3. Fasten the discharge-area flood lamp to the upper tube.



2 30997 R6

4. Fasten the swing hopper flood lamp to the second bracket on the swing tube.

5. Route the wiring harness along the truss cable and secure using zip ties. Plug the wiring harness connectors
into the lamp connectors. Ensure that the connectors are fully engaged.

6. Install the switch box on the boot using two #8 x 3/4" Tek screws.

Figure 1. Representation of Installation for 53'-83' Models

   
   

 

   
AX

LE
 A

R
EA

, 6
4’

/7
3’

/7
4’

/8
3’

 M
O

D
EL

S
SW

IN
G

 H
O

PP
ER

   
   

 (F
LO

O
D

 L
AM

P)
   

   
 (F

LO
O

D
 L

AM
P)

   

U
PG

R
AD

E
TO

 
BO

LT
S

SP
EC

IF
IE

D

SW
IT

C
H

 B
O

X
10

" M
O

D
EL

S
   

   
 

SW
IT

C
H

 B
O

X
13

" M
O

D
EL

S

   
   

 

   
AX

LE
 A

R
EA

, 5
3’

/6
3’

 M
O

D
EL

S
   

   
 (F

LO
O

D
 L

AM
P)

   
   

 (F
LO

O
D

 L
AM

P)
D

IS
C

H
AR

G
E 

AR
EA

A341/A348–A358 LIGHTING KIT – PORTABLE GRAIN AUGER



30997 R6 3

Figure 2. Representation of Installation for MKX/X/HX/GMX 84'-125' Models

SW
IT

C
H

 B
O

X

D
IS

C
H

AR
G

E 
AR

EA
   

  (
FL

O
O

D
 L

AM
P)

SW
IN

G
 H

O
PP

ER
(F

LO
O

D
 L

AM
P)

AX
LE

 A
R

EA
(F

LO
O

D
 L

AM
P)

   

AD
D

IT
IO

N
AL

 5
/1

6"
 F

LA
T 

W
AS

H
ER

R
EQ

U
IR

ED
 O

N
 8

4'
/9

4'
/1

14
' M

O
D

EL
S

A341/A348–A358 LIGHTING KIT – PORTABLE GRAIN AUGER



4 30997 R6

Figure 3. Representation of Installation for MKX²/X²/HX²/GMX² 84'-125' Models

SW
IN

G
 H

O
PP

ER
(F

LO
O

D
 L

AM
P)

D
IS

C
H

AR
G

E 
AR

EA
(F

LO
O

D
 L

AM
P)

SW
IT

C
H

 B
O

X

AD
D

IT
IO

N
AL

 5
/1

6"
 F

LA
T 

W
AS

H
ER

R
EQ

U
IR

ED
 O

N
 8

4'
/9

4'
/1

14
' M

O
D

EL
S

AX
LE

 A
R

EA
 (F

LO
O

D
 L

AM
P)

A341/A348–A358 LIGHTING KIT – PORTABLE GRAIN AUGER



30997 R6 5

Installing the Transport Lights
This section applies to: 84', 85', 94', 105', 114', 125', X²/X 13-74', and HX²/HX 13-74'.
The lighting kit consists of two transport light mount assemblies (LH/RH), a wiring harness, and hardware.

1. Attach the light mount assemblies to the axle with 7/16" x 1-1/4" bolts and lock nuts, then plug the
transport light connector to the wiring harness connector. Ensure that the connectors are fully engaged.

2. Run the wiring harness along the axle to the lower frame and fasten the harness with the P-clamps.

3. Run the wiring harness up the lower frame to the lower tube and secure it with the
P-clamps. Mount the P-clamps approximately 6 ft apart on the frame.

4. Run the wiring harness down the lower tube along the hydraulic hoses to the boot assembly and secure
using zip ties.

• MKX²/MKX 13-94 Models: Attach the 5 ft extension cable to the main transport light harness.

5. Plug the wiring harness connector into the work light kit connector. Ensure the connectors are fully engaged.

13" Models

1
1

3 4

3

4

2

1

1 light mount assembly, LH 3 bolt, 7/16" x 1-1/4"

2 light mount assembly, RH 4 lock nut, 7/16"

16" Models

1 light mount assembly, LH 3 bolt, 7/16" x 1-1/4"

2 light mount assembly, RH 4 lock nut, 7/16"

1

4

3

2

2

2

A341/A348–A358 LIGHTING KIT – PORTABLE GRAIN AUGER



6 30997 R6

Harness Routing

*

1

2

23

24

1 65

2

* MKX²/MKX 13-94 Models Only

1 LED light harness 4 work light harness

2 transport light harness 5 P-clamp, 3/8"

3 transport light harness extension (MKX²/MKX
13-94 only)

6 tek screw, #8 x 3/4"

AGI is a leading provider of equipment solutions for agriculture bulk commodities including seed, fertilizer, grain, and feed systems with a growing platform in providing
equipment and solutions for food processing facilities. AGI has manufacturing facilities in Canada, the United States, the United Kingdom, Brazil, South Africa, India and Italy
and distributes its products globally.

P.O. Box 39, Rosenort, Manitoba, R0G 1W0 Canada
P 866.467.7207 (Canada & USA) or 204.746.2396 │ F 866.768.4852 │ E sales@grainaugers.com

AGGROWTH.COM aggrowthintl
©Ag Growth International Inc. 2025 │ Printed in Canada

A341/A348–A358 LIGHTING KIT – PORTABLE GRAIN AUGER


	Installing the Work Lights 
	Representation of Installation for 53'-83' Models 
	Representation of Installation for MKX/X/HX/GMX 84'-125' Models 
	Representation of Installation for MKX²/X²/HX²/GMX² 84'-125' Models 

	Installing the Transport Lights 

